MRS 1= Tha, B8] 25% ®4  Grading Key S8 32
1.(5) lim Sosmizcosne §4.4 #30 [(3) lim (1+ 2+ &)® §4.4 #57

z—0

. —2sin ™y sin z(2) manm—n . x 2% se45
(s0l.) Bt = lim = g e @) minmen (1) | (s0) B = limm (1 -+ 2288) 5525 (1)

2 3z+5

m2—n? n—m? . H z Fs| °©
=—-92.1-1- 1 = 5 (1) _mh_l;Iolo |:(1_|_3x_42r5)3 +5i| (1)
— 3 (1)
2.(10) 3K: 2(2% + y?)? = 25(2% — y?) FTEMPLEREEE, §3.6#39

(s0l.) WE) 42 +y*) (Zodr+2ydy) = 25(2xdr — 2y dy)
(1) (1) (1)

< (423 + 4xy? — 257) dw + (43> + 25y) dy = 0 (1)
# W =0 8 423 + day? — 252 = x(42® 4+ 4y? — 25) = 0(1)
r=0=y=0, 18 do,dy EILEBBRE 0-dr +0-dy = 0, BIEHAE (0,0) EEEE (2)

LB

x? +y* = 25/4 625 2 2 __ 75 2 _ 25
2+ = 2t —y?) T on - PRE =B ==y = ()

A (22,9), (322, 9), (52, ), (22, 32) IEBERIZEES 0. (1)

3.) y = (o) R g §3.6 #48
du
A dx
e e dz \
(s0l.) Iny = cosz-In(lnz) (1), .. i'ﬁ—i = —sinz-In(lnz) + cosx-%x-% ;
. g_::'lJt = (lnx)COSLE(_ SlIl$ . ]_n(lnx) + %) (1)

u

—TN—
(3 2 = dlecose o)) (1) =[] &2 1), HEpBRAL)

4.(13) tanz] = sec’z  Heota] = —csc?x  ‘seca] = secxtanz  Hesca] = — cscacotx *—%‘
dsinT'a] = == dtan'a] = F  ssec 1] = PV e s
Asinha] = cosha  Heoshz] = sinha  Htanhz] = —— = sech’x ;
diginh o] = - Alcosh o] = — Atanh 2] = L
dx 1+22 dx Va2—1 dx 1—z2
UTRERE, EEERIEN TS
B RV, TORFE. HRERE ... i, Bl BEREIEE, LEOFH.



